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m MATHCMATICS By Pradeep Sir

o? - Levt 3"9—1‘{ Q. 1) Find the least number divisible by 2, 3, 5, 6, 9 and
7 . 18, which is a perfect square.
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By Pradeep Sir

Q. 2) In an election between two candidates, 10% of the
voters in the voter list did not cast their vote, whereas

10% of the votes cast were found to be invalid. The
winning candidate got 56% of the valid votes and won

the election by a margin of 1,458 votes. What is the total

gl . Liv number of voters enrolled in the voter list?
S ) & Inficar! & di9 gU Us 9919 § "agral gdal & 10%
/ C = 10%naaﬂar%uﬂt?qal m?ﬁauﬂamm;aﬁ t'?ﬂ‘r:ral,’af‘g:
L ax b 56% Hd T ﬁahva'sussua’fawmﬁgmaaﬂg
Sk = 4T | Hdgrdl T d HdaIdIsil @I Ho JE&AT HT
&1 X = ) SO (a) 14,000
’\___/Q2 (c) 16,000 =S . (d) 13,000
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Q. 3) A dishonest shopkeeper sells millet at 20 per kg
B which he has bought at 16 per kg and he is giving 800
CP = 1( P e gm instead of 1000 gm. Find his actual profit percentage.
46 . 35| TP aTei} I Rs. 20 Ufd kg & T TR a<al
4 =3 Rs.16 UfawTE & uTa | Wil & 3R a8 1000
gm & FGd 800 gm ¢ V&1 g1 IUDT IAfA®d a1y
JTd Do
l1eogm —> leo ¥5 (a) 52.12%
(b) 58.36%

)DDD ‘}o ] c) 54.25%
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Q. 4) The marked price of a mobile phone is Rs. 15,000
and the shopkeeper sold it for Rs. 13,500. What is is the
rate of discount offered by the shopkeeper?

Wi $T 3ifbd Ted Rs. 15000 _3 IR FHHER
z'é Rs. 13,500 ¥ 99 34T 81 PSR gRT &t 9 aret ¥e

Pt @ J1d B
(a) 11%
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A c P + St L

Q. 5) The simple interest on Rs. 800 for 6 years at 5.5%

p = A~ L~ per annum is equal to the simple interest on Rs. 600 at

T = A-PFP 4% per annum for a certain period of time. The period of
time is:

- = PXRXT Rs. 800 @I M W 6 6l # 5.5% &I dMfde ¥ A W

SL — (o0 L— HIYRY] &Te U Afda awarafy # Rs. 600 &1 I W 4%

F! e X F U WIYRY O & a1067 gl SHgEfy

- 10pxS2 T &
fe—— _(a)11years
RxT ) 9 years

)/ (c) 12 years
K= '°°’("r, (d) 10 years
Px1 29
- (OOK ST /gﬁﬁxgxs,s‘- /’/A/‘A"t
Px R )‘0_0’4 - /I—U’D’
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4 5 9

Q. 6) Three numbers are in the ratio -:-:—. The
Y 25;, S é,i\k 3/0 difference between the smallest and the greatest
;;—-} - /‘E, 1 @ numbers is 12. Find the number which is NEITHER the
. - y smallest NOR the greatest.
9S-I & UTd | ¢ | Tad Sid! 3R Jad
oy : o TSI HEN & 2:2. 2 9 &7 3a 12 81 I8 WS J1d BN ol

—L/’j qa‘imtﬂé%?ﬁqﬁmwl
(a) 96

b) 108
s




MATHCMATICS By Pradeep Sir

B : d = &2 Q.7) Ina class of 60 students, 20 are girls. The average
L pree weight of the boys in the class is 40 kg, while that of all
o the girls is‘|35/kg. What is the average weight (in kg) of
@ / the entire ¢ a-nasé (correct tﬁo two decimglgp aces)%
60 faenfdal DT H 20 ASHAl 3| DT H TASDHI BT
e 3 YR 40 kg 8, Fafe Tyt asfeal &1 3id R 35 kg
" 21 "YUl & BT NTT UR (kg H) (@ IHAT R P
o © 35 e 182
| / a) 36.67
_(b)38.33
2.3 ) 48-67" ho
/ R~ Kd—
S
2 S
=D }—}_}’
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A B+C Q. 8) A can do a certain piece of work in 1.5 times the
o number of days in which B and C together can do it. If A
T 3 and B together can do the said piece of work in 30 days
and C alone can do it in 120 days, then how many days
2 X = @ will B take to do this piece of work alone?
- Awﬁf%awﬁseh?é__ﬁmﬁaww EIER:
aﬁﬁﬁﬁmﬁts% # &Y Goal g1 afg A X
8 Fireiae T BT T 30 T4 51 6 FEA 8 7 ¢ SE o
y-> A+8 -2 30D 120 T A sy adare, g A oA B faa et &
(a) 75 °
| » € = 12 2 b) 45 N | 20
Cemeio @0 ] X2
d) 24, gb
—~ 10
©= F=L22
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_» Q. 9) Aarti can type 85 pages in 10 hours. Aarti and Bina

85 : together can type 500 pages in 40 hours. How much time
— - - &S
A —» | 0 o P“aﬂ- will Bina take to type 40 pages?

ARG 10 92 H 85 U T18Y &Y WPbdl gl Rl X €141
ArB - | hv = SOF =195 Pyt Ry 40 W # 500 U 2R BT WA §1 A 40 U

3——‘\ 4o 12q $H34 H fHaar gug Az

4-s Fa ¢ 4Pt () 14 monn

(d) 12 hours

| he — "lp‘“ir?
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Q. 10) P and Q together can complete a piece of work in
() 6 days. If P can alone complete the work in 18 days, then
@ th;hr;um?he?r‘;;{days uired fé)_:‘ﬁ Q éo finish the work i ﬂ!fs%
» P16 I P
5P+t 6 arﬁwﬁﬂ’fﬁmﬁtmm %glqaﬁm
& fore fvam fe=1 =t smaxa®ar
| P — 18D (a) 10 days p
- (b) 8 days y
(c) 11days
o - | 8
= ;{’ > 92 frr
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Q. 11) A pipe can fill a tank in 30 hours. Due to a leakage
at the bottom, it is filled in 50 hours. How much time will
the leakage take to empty the completely filled tank?

5 >4 = 3ohw UT3Y [Pl St Y 30 U H R Wddl ¢l dell A ¥
gasmu’ssoﬁ%ﬁm?ﬁ%lwﬁuﬁéﬁﬁ
Tl Y ° a9 &t feaar aag
(=) B = Soh (a) 60 hours
-5 (c) 70 hours\a ) S0

b) 85 hours ¥
—
A+B= S-3 = i—@-—éeﬂ

=) _!.f_-e ‘}_\"uow“\
2 ~ = A
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- D
L= 3
D _ D .
lof 69
U»-3»_- |
3 =
2 - L
3 X
D Z R _ERe-

Q. 12) Two men walk from a place at speeds of 9 km/h
and 12 km/h, respectively. The first man takes 20
minutes more than the second one to cover the journey.
Find the distance of the journey.

& i U@ R | A 9 km/h R 12 km/h 3t 9108 F
Tdd & | T B WL B & fore ugen afea g aafea |
20 e siftres @ 81 g 3t g1 J1a B

(a) 10 km

(ORERGY
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P = Y=225m Q. 13) In a circular race of 4225 m, X and Y start from the

same point and at the same time at speeds of 54 km/h

Rs & Ou+E3 = T ke ll\ and 63 km/h. When will they meet again for the first

7

time on the track when they are running in the opposite

direction?

- 4zzs:ﬁwqﬂmﬁ3ﬁxﬁ?vwﬁ A AR TH
S 2 99 & 54 km/h 3R 63 km/h @ UTH | ARY
g4us 65 gﬁ%mﬁﬁﬁvﬂamﬂﬁmﬁﬁ.?ﬁéﬁwﬁwﬁ

ﬁ (a) 140 seconds Kndh — k"
: ) seconc C —»> ™
52t B e
A8 g (d) 120 seconds
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Q. 14) Thevalueof x* + y* whenx =1,y = 2 is:
gfidx=1,y=2a 2+ y2 BTHHABI

ol == —
S
(b) 4
’lz+&f?- = I +Y (€) 2
=\ S (d) 1
g
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2 4 =
— M
@ tRD = AT +4b + (. 15) Simplify the following expression.

m Wﬁmml(4x+ 1)2_(4:,-+

P
QalejL: 16124' |+ & X 3)(4x—1)
(a) (4x + 1)
(Cyx+3)(ux-1) = L—
N P (c) (4x —3)
“’xz't“" +)ex -3 CE>

T e - 8z + 3

M“'__'_-*}’{—y({ﬁ«l—é
5 M A’""}-—




MATHCMATICS

By Pradeep Sir

(x+1) =228, R (x6 + 1) T o T B2

(b) 216

(c) 180
.3
(d) 234

Q. 16) If (x + i) = 2/2 what is the value of (x" + l) 23fe

x®




Q. 17) If Coses 6 + Cot & = m, find the value of e

I Coses 0 + s 2
Cotf = m m_-l w
oy ¢, @t S w1 AW A A
— ‘. [ ggo
(c) cos@ —ot® = C""
' S‘l"'\CD

- L
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Q S 113y

<)

M x- Cotx =

Q. 18) If tanX =

-12/5, where x lies in the second
B

quadrant, what is the value of sin x - cot x?

gfe tanX = -1265_‘?:;1?%3? seconeiﬁemﬁ@m%, al sin x

- cot x Pl HIH
(c) 156/209
(d) 144/169

| & _ S

1 ('T:o)

12 L s

)3 12—
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A+ ~90

tem A X tanp =]

Cot Ax Cot® =\

Q. 19) The value of tanS tan 25° 25°tan 45 tan 65°tan 85
equal is -
tap 5°tan 25°tan 45 tan 65°tan 85°

(a) 4\ — -

amm%.
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Q. 20) Which of the following options gives an
expression equivalent to sin (A + B)?

fFafafea 4 #1991 fd®e sin (A + B) &1 GUg TS

U HIdl 82
(a) cosAcosB - sinAsin B

(d) sinAcosB- cosAsin B

9mCA+B) o S A Cer B+ CoBR NG

(o5 CAFR) = CPAA LB — LA NwD
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Q. 21) The length of the common chord of two circles of
radii 15 cm and 13 cm, whose centres are 14 cm apart, is:

15 cm 3R 13 cm [Ao91 a1 &t il &1 witar ®t
wraTé frat g1, R % & dId B g R 14 em

(a) 14 cm
(b) 12 cm
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A Q. 22) In A ABC, D is the mid&point of BC and G is the
‘ centroid. If GD = 10 cm, then the length of ADis ____.
AABCHD BCW"IW—WGW%I afeGp =
10 cm ?I"l AD
| C 1) 2(
° “(b)30cm
¢) 15 cm
(d) 10 cm
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Q. 23) The length, breadth, and height of a room are 10
m, 8 mand 6 m respectively. Find the cost of white

“1 ‘2 :fa;l;u;gstohe ev:a::s valls of the room and the ceiling at the rate
L» & % m PHH: 10 m, 8 m 3R
= sm%ms 7souﬁaﬁtﬂzvaﬂa?ﬁﬂ%aﬂa'dn’fahv

5 U3 JWal B DI ANTd T DR |

) -Rs- ;" $
Cobortr ¢ LRI xh + LM o o0 )
_(d)Rs.2,000— X
D Ay 8xb4+ 10x 8
LY o 2.0

Cost = (o1 1S 1S —
—R R AM/
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Marks

¢S than 10

eSS than 20

Less than 30

Less than 40

2ss than 50

Q. 24) The followmg table shows the marks distribution

:{(\)) d(ifm among the students in a class.
‘ difereT e S | faenfdal & dfa siwl & de
2 &I giat 2
— How many student scored less than 20 marks? fra
| faenfaal 9 20 | o9 3@ U few?

—’-6 b7
» o1
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Q. 25) Study the given table and answer the question
ollows. The table shows the number of students

t
| sturcgin in six different classes of six different schools.
3t $T AT B AR A 3w 70 uyy &1 391 2|

AITIPT BE -3 Tpel P B8 B GBI Wl 2
| What is the respective ratio of students studying in class
IX of schools Q and R together to those studying in class

" VlofschoolsSand T together?
A Q IR R B! feme? Bam IX 7 g arat ot iR

s Y T &I faTeT Fam vi # ue arat Sl &1 de
SUTd 41 82

(a) 181: 127

(b) 143: 150

(c) 150: 143

(d) 127: 181




